DOH code

Trust name

Date range

L101	ust Item description NHS SC Item description	art NHS SC Trus	Trust Vendor name NHS SC Vendor name	Trust Key Date	Trust UOI and Units	NHS SC UOI and Units	Trust UNIT price (exc. VAT)	Trust quantity ordered	Trust TOTAL cost (exc. VAT)	NHS SC CATALOGUE Band 1 price (exc. VAT)	NHS SC REGIONAL Band 1 price (exc. VAT)	Cost avoided
FQD8350	1 Essentio DR Pacemaker ual Chamber RR Pacemaker nerator Non-mri pacemaker dr I101	L CODOSCO Dua	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£1,350.00	6	£8,100.00	£1,656.19	£1,656.19	£1,837.14
ASC4250-01 FBX6248 ASC4250-90 ICW Arthrows ASC4250-01 FKL296 5568-53 A J Shaped Lead Lead FKL296 FKL296 5568-53 A Leads 7742 FRZ2481 7742 Inge Ver active fixa 7742 FRZ2481 OXYMA CABLE (F PL Interface of Sensors FBC324 Oximetry of Oxime	101 Essentio SR Pacemakers Dual Chamber RR Pacemaker nerator Non-mri pacemaker dr I101	FORMER D	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£1,350.00	1	£1,350.00	£1,656.19	£1,656.19	£306.19
ASC4250-01 FBX6248 90 ICW Arthrows							Sum:	7	£9,450.00		Sum:	£2,143.33
ASC4250-01 FBX6248 90 ICW Arthrows ASC4250-01												
5568-53 FKL296	C4250-01 SUPER TURBOVAC 90 ICW Instrumentation rthrowand super turbovac 90	FBX6248 90	T J SMITH NEPHEW LTD ARTHROCARE UK LTD	July 2015	Each	Each 1	£103.50	50	£5,175.00	£115.59	£115.59	£604.50
5568-53 FKL296 J Shaped Lead FKL296 5568-53 A Leads 5568-53 7742 Inge Ver active fixa 7742 FRZ2481 OXYMA CABLE (F Pt Interface & Sensors FBC324 SP02 INT DASH M Oximetry oximax N dash 2021406-001 FAL2069 M0051375 S Endoscop		1					Sum:	50	£5,175.00		Sum:	£604.50
5568-53 FKL296 J Shaped Lead FKL296 5568-53 A Leads 5568-53 7742 Inge Ver active fixa 7742 FRZ2481 OXYMA CABLE (F Pt Interface & Sensors FBC324 SP02 INT DASH M Oximetry of OxiMax N dash 2021406-001 FAL2069 M0051375 S Endoscop	<u> </u>	1			1		ı		ī	Г		
### FKL296 Leads 5568-53	8-53 Active Fix Bipolar Arterial Shaped Lead 53cm Atrial Lead Active fix atrial lead	FKL296 JSh	MEDTRONIC LTD MEDTRONIC LIMITED	July 2015	Each	Each 1	£160.00	1	£160.00	£309.28	£201.03	£41.03
7742 FRZ2481 7742 Inge Ver active fixa 7742 2021406-001 FBC324 OXYMA CABLE (F Pt Interface of Sensors FBC324 SP02 INT DASH M Oximetry of OxiMax N dash 2021406-001 M00513750 FAL2069 M0051375 Sendoscop	88-53 Active Fix Bipolar Arterial eads Atrial Lead Active fix atrial lead		MEDTRONIC LTD MEDTRONIC LIMITED	July 2015	Each	Each 1	£160.00	10	£1,600.00	£309.28	£201.03	£410.30
7742 2021406-001 FBC324 CABLE (F Pt Interface of Sensors SP02 INT DASH M Oximetry of OxiMax N dash 2021406-001 M00513750 FAL2069 M00513750 Endoscop							Sum:	11	£1,760.00		Sum:	£451.33
7742 2021406-001 FBC324 CABLE (F Pt Interface of Sensors SP02 INT DASH M Oximetry of OxiMax N dash 2021406-001 M00513750 FAL2069 M00513750 Endoscop		•	•									
2021406-001 FBC324 OXYMA CABLE (F Pt Interface of Sensors SP02 INT DASH M Oximetry of OxiMax N dash sensors SP02 INT DASH M Oximetry of OxiMax N dash sensors SP02 INT DASH M Oximetry of OxiMax N dash sensors SP02 INT DASH M Oximetry of OxiMax N dash sensors SP02 INT DASH M Oximetry of OxiMax N dash sensors SP02 INT DASH M Oximetry of OxiMax N dash sensors SP02 INT DASH M Oximetry of	12 Ingevity Pacing Leads 59cm Ventricular Lead Ingevity ive fixation polyurethane 59cm bipolar mri 6f	FRZ2481 7742 active	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£225.00	10	£2,250.00	£257.73	£257.73	£327.30
2021406-001 FBC324 CABLE (F Pt Interface of Sensors Sensors Sensors) FBC324 SP02 INT DASH M Oximetry (OxiMax N dash sensors) 2021406-001 M00513750 FAL2069 M00513750 Endoscop							Sum:	10	£2,250.00		Sum:	£327.30
2021406-001 FBC324 CABLE (F Pt Interface of Sensors Sensors Sensors) FBC324 SP02 INT DASH M Oximetry (OxiMax N dash dash dash dash dash dash dash dash		·	•									
### PBC324 DASH M Oximetry of OxiMax N dash	Pulse Oximetry cables	FBC324 CABL	GE MEDICAL SYSTEMS LTD GE HEALTHCARE CLINICAL SYSTEMS (UK) LTD	July 2015	Each	Each 1	£69.00	1	£69.00	£177.78	£177.78	£108.78
M00513750 FAL2069 M0051375 Endoscop	PO2 INTERFACE CABLE FOR NASH MONITORS Pulse metry cables Interface cable to kiMax Nellcor Sensors 3m (for dash and solar monitors)	FBC324 Oxim	GE MEDICAL SYSTEMS LTD GE HEALTHCARE CLINICAL SYSTEMS (UK) LTD	July 2015	Each	Each 1	£69.00	2	£138.00	£177.78	£177.78	£217.56
M00513750 FAL2069 Endoscop		1					Sum:	3	£207.00		Sum:	£326.34
M00513750 FAL2069 Endoscop												
M005407	0513750 18 x 100 Distal Uriflex Stents oesophageal doscopic 18 mm x 15 cm distal covered	FALODOO -	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£600.00	1	£600.00	£687.50	£687.50	£87.50
100	00513750 Ultraflex Distal 18 x 100 Stents oesophageal doscopic 18 mm x 15 cm distal covered	100	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£600.00	1	£600.00	£687.50	£687.50	£87.50
M00513750							Sum:	2	£1,200.00		Sum:	£175.00

DOH code

Trust name

Date range

Trust Vendor part number	NHS SC NPC	Trust Item description NHS SC Item description	Trust Vendor name NHS SC Vendor name	Trust Key Date	Trust UOI and Units	NHS SC UOI and Units	Trust UNIT price (exc. VAT)	Trust quantity ordered	Trust TOTAL cost (exc. VAT)	NHS SC CATALOGUE Band 1 price (exc. VAT)	NHS SC REGIONAL Band 1 price (exc. VAT)	Cost avoided
GBS-42-07-220	FAL6984	GBS-42-07-220 7FR Pusher Catheter 7FR pusher catheter with distal metal ring ~ yellow (box of 10)	PREMIER ENDOSCOPY PREMIER ENDOSCOPY LIMITED	July 2015	Вох	Box 10	£216.00	1	£216.00	£372.40	£372.40	£156.40
GBS-42-07-220							Sum:	1	£216.00		Sum:	£156.40
		<u> </u>	· · · · · · · · · · · · · · · · · · ·		•				T	•		
31502	GRZ3694	31502 FORMFIT MED RIGHT WITH THUMB EXT Digit - thumb orthoses for immobilisation manipulation or protection Form fit thumb spica 8 inch w ext md rt	OSSUR UK LTD OSSUR UK LTD	July 2015	Pack	Each 1	£3.95	10	£39.50	£10.70	£10.70	£67.50
	GRZ3694	31502 FORMFIT THUMB SPICA W EX MED RIGHT Digit - thumb orthoses for immobilisation manipulation or protection Form fit thumb spica 8 inch w ext md rt	OSSUR UK LTD OSSUR UK LTD	July 2015	Each	Each 1	£3.95	10	£39.50	£10.70	£10.70	£67.50
31502							Sum:	20	£79.00		Sum:	£135.00
66036743	FQQ100	66036743 PALAMIX UNO Mixing and delivery systems Palamix uno set 1x80g (b1)	HEALTHCARE PRODUCT SERVICES LTD HERAEUS MEDICAL	July 2015	Вох	Box 10	£300.00	1	£300.00	£411.30	£411.30	£111.30
66036743							Sum:	1	£300.00		Sum:	£111.30
					•				•			
M00553200	FAL2254	M00553200 Achalasia Pneumatic Pump Monitor Dilation accessories Hand pump pneumatic achalasia with monitor	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£50.00	2	£100.00	£98.96	£98.96	£97.92
M00553200							Sum:	2	£100.00		Sum:	£97.92
_												
30502	GRZ3680	30502 FORMFIT MED LEFT WITH THUMB EXT Digit - thumb orthoses for immobilisation manipulation or protection Form fit thumb spica 8 inch w ext md It	OSSUR UK LTD OSSUR UK LTD	July 2015	Pack	Each 1	£3.95	10	£39.50	£10.70	£10.70	£67.50
30502							Sum:	10	£39.50		Sum:	£67.50
2478	FBF059	LARGE ADULT SENSA CUFFS (BOX OF 5) Blood pressure cuff reusable Large Adult ~ Single Hose ~ Bayonet Connector ~ 31 - 40 cm ~ For use with Philips ~ Datascope ~ Spacelabs	GE MEDICAL SYSTEMS LTD GE HEALTHCARE CLINICAL SYSTEMS (UK) LTD	July 2015	Each	Box 5	£45.00	2	£90.00	£77.53	£77.53	£65.06
2478							Sum:	2	£90.00		Sum:	£65.06
2017003-003	FDK6810	MULTILINK 3 5 LEAD ECG TRUNK CABLE (FOR DASH MONITORS) ECG Electrodes Cables/Wires Reusable Cable ecg care multilink 3/5 lead 36 m iec	GE MEDICAL SYSTEMS LTD GE HEALTHCARE CLINICAL SYSTEMS (UK) LTD	July 2015	Each	Each 1	£79.00	2	£158.00	£109.71	£109.71	£61.42
									1	!		

DOH code

Trust name

Date range

								J				
Trust Vendor part number	NHS SC NPC	Trust Item description NHS SC Item description	Trust Vendor name NHS SC Vendor name	Trust Key Date	Trust UOI and Units	NHS SC UOI and Units	Trust UNIT price (exc. VAT)	Trust quantity ordered	Trust TOTAL cost (exc. VAT)	NHS SC CATALOGUE Band 1 price (exc. VAT)	NHS SC REGIONAL Band 1 price (exc. VAT)	Cost avoided
2006644-001	FBC078	OXISMART INTERFACE CABLE Pulse Oximetry cables GE range nellcor comptable 2.9m interconnect cable	GE MEDICAL SYSTEMS LTD GE HEALTHCARE CLINICAL SYSTEMS (UK) LTD	July 2015	Each	Each 1	£69.00	2	£138.00	£99.03	£99.03	£60.06
2006644-001							Sum:	2	£138.00		Sum:	£60.06
3704-0-410	FJT24015	3704-0-410 DALL MILES CABLES Block Dall miles cable & block set s/steel 1.6 st	STRYKER UK LTD STRYKER HOWMEDICA (E DIRECT)	July 2015	Each	Each 1	£136.50	1	£136.50	£193.82	£193.82	£57.32
3704-0-410							Sum:	1	£136.50		Sum:	£57.32
900522-B	FAL1036	900522-B Autozyme Detergent (bx 6 x 2 litrs) Instrument Detergent - Enzymatic/Neutral Autozyme ISIS Detergent (6 x 2 Litre)	CANTEL MEDICAL (UK) LTD CANTEL MEDICAL (UK) LTD	July 2015	Вох	Box 6	£237.81	24	£5,707.44	£239.62	£239.62	£43.44
900522-B							Sum:	24	£5,707.44		Sum:	£43.44
1104L	WZK3308	1104L MultiRite Large Copyholder Large multirite copyholder height and angle adjustment rubber feet for stability	POSTURITE (UK) LTD BANNER BUSINESS SERVICES LTD	July 2015	Each	Each 1	£125.95	1	£125.95	£161.82	£161.82	£35.87
1104L							Sum:	1	£125.95		Sum:	£35.87
										•	<u>. </u>	
72299-05	GRS185	72299-05 PAEDIATRIC OFFSET MASTER HINGE deliver to clinic 10 Hinge Bi-Pivotal hinges elbow/ paediatric pair	BSN MEDICAL LTD BSN MEDICAL LTD	July 2015	Each	Pair 1	£58.90	1	£58.90	£89.53	£89.53	£30.63
72299-05							Sum:	1	£58.90		Sum:	£30.63
00711177	FAL7060	00711177 Disposable Graspers Raptor Grasping forceps Raptor grasping device	DIAGMED HEALTHCARE LTD DIAGMED LTD	July 2015	Вох	Box 5	£325.00	2	£650.00	£338.54	£338.54	£27.08
00711177							Sum:	2	£650.00		Sum:	£27.08
W0400BLK	GRA1953	W0400BLK SMALL EQUALISER WALKER deliver to clinic 10 Ankle orthoses for immobilisation manipulation or protection Equalizer walker black s	OSSUR UK LTD OSSUR UK LTD	July 2015	Each	Each 1	£11.00	5	£55.00	£15.73	£15.73	£23.65
W0400BLK							Sum:	5	£55.00		Sum:	£23.65
•							•				•	
W0600BLK	GRA1954	W0600BLK MEDIUM EQUALISER WALKER deliver to clinic 10 Ankle orthoses for immobilisation manipulation or protection Equalizer walker black m	OSSUR UK LTD OSSUR UK LTD	July 2015	Each	Each 1	£11.00	5	£55.00	£15.73	£15.73	£23.65
W0600BLK							Sum:	5	£55.00		Sum:	£23.65
M00558380	FAL2264	M00558380 Oesophageal Dilator 18-20 Dilatation balloons Catheter cre 18 20 mm 180 x 8 cm	BOSTON SCIENTIFIC LTD BOSTON SCIENTIFIC LTD UK	July 2015	Each	Each 1	£90.00	1	£90.00	£112.50	£112.50	£22.50
M00558380							Sum:	1	£90.00		Sum:	£22.50
			l L		L	l				I		

DOH code	Trust name								Date range					
Trust Vendor part number	NHS SC NPC	Trust Item description NHS SC Item description	Trust Vendor name NHS SC Vendor name	Trust Key Date	Trust UOI and Units	NHS SC UOI and Units	Trust UNIT price (exc. VAT)	Trust quantity ordered	Trust TOTAL cost (exc. VAT)	NHS SC CATALOGUE Band 1 price (exc. VAT)	NHS SC REGIONAL Band 1 price (exc. VAT)	Cost avoided		
72859-11	GQT1402	ACTIMOVE GAUNTLET BRACE REF: 72859-11 Digit - thumb orthoses for immobilisation Actimove gauntlet thumb and wrist brace left medium	BSN MEDICAL LTD BSN MEDICAL LTD	July 2015	Each	Each 1	£4.17	12	£50.04	£5.93	£5.93	£21.12		
72859-11							Sum:	12	£50.04		Sum:	£21.12		
HB2190	FBE14552	HB2190 Spray Catheter Spray catheter single use 360	CANTEL MEDICAL (UK) LTD CANTEL MEDICAL (UK) LTD	July 2015	Вох	Pack 5	£164.10	1	£164.10	£183.33	£183.33	£19.23		
HB2190							Sum:	1	£164.10		Sum:	£19.23		
PO5302A	HFL3463	PO5302A Brilliance ESBL plates (10) Customer No 107586. Quote 20104792 Culture Media Plated Brilliance tm esbl agar	OXOID LTD OXOID LTD	July 2015	Pack	Pack 10	£6.79	10	£67.90	£8.58	£8.58	£17.90		
PO5302A							Sum:	10	£67.90		Sum:	£17.90		

Sum:

186

£28,323.33

Sum: £5,104.85